TOOLS FOR
FASTENERS

FASTENERS
& TOOLS



TOOLS FOR FASTENERS 1a30v8v31on

RIV 502 for Standard BlINd RIVELS .......cccoiiiiiiiine et E3
RIV 503 for Standard and Structural RIVELS ...........cooiiiiiiiie e E4
RIV 504 for Standard and Structural RiVEtS ... E5
RIV 508 for Structural Blind Rivets and BOItS ..........cccooiiiiiinineneeseseeeeseee e E6
RIV 536 for Blind Rivets with Angular Head ... E7
RIV 938 for Rivet Nuts from M 310 M 10 ..o E8
RIV 939 for Rivet Nuts from M 310 M 12 ..o E9
RIV 300 for Speed Rivet in Cartridge .......ccoeeveriieiieieiese e E10

SY3INILSVH
d04 S1001L

I] Aley ur spep anm

E2



HYDROPNEUMATIC TOOL
FOR STANDARD BLIND RIVET
IAS2VFV3I1DNS:uU HYDROPNEUMATIC

el

E3

T

Knob For Suction Adjusting

Blind Rivet yuna 2.4 - 4.0 Uu.

* Aluminium Rivet yunQ 4.8 UuU.

. IKUNEKSUIUELFaIMiaUs:NoUTFUVIU

- JS:UUQQIAUANEYL WSOUNS:UDNIAU

O,

IvTUKUNIUN lla:vuns:=5ulio

Technical Data and Features

AWAUWANEANINSAQAENKNSSU ADIASOVWANDINDTITHW

Air Working Pressure 5 bar
Min - Max Air Pressure 3/7 bar
Air Consumption Per Cycle (6 Bar) 261t
Stroke 20 mm
Max Power (6 bar) 8500 N
Weight 1.429 kg
Vibrations < 2,5 m/s?
Noise Level 77.5dB (A)
auUnsaifiuAuIASoL

Description Pcs Code
Nosepiece @ 2.4 mm 1 4199000
Nosepiece & 3.0-3.2 mm 1 4199100
Nosepiece @ 4.0 mm (On Head) 1 4199200
Nosepiece @ 4.8 mm 1 4169100
Jaws (3 pcs) 2 1250100
Jaw Opener @ 2.4-3.2 mm 1 4136700
Jaw Opener @ 4.0-4.8 mm (On Head) 1 4136600
Jaw Return Spring 1 4136800
Jaws Carrier Cone 1 4136500
Oil Syringe 1 4770100
Oil 1 -

Hexagonal Allen Wrench 3 mm

10-12 mm Wrench

15-16 mm Wrench

1

16-17 mm Wrench

1

The Tool is Supplied with Kit & 4.0 Already Assembled




HYDROPNEUMATIC TOOL FOR STANDARD
AND STRUCTURAL RIVET ALUMINIUM
IAS32VFV3I1DNS:uU HYDROPNEUMATIC

+ Blind Rivet yunQ 2.4 - 4.8 UU.

« Aluminium Rivet yunQ 6 UU.

- IKudKSULILBLEaIiaUs:NaUT UL
- Is:uuQaIAUANEL WsaUNS:UaNIAU
- aWdUWaaanINsSagaakNssy ddlA%ovnaaonaalitow

3

DuTUNKUNIUN lla:duns:Buibdo

Technical Data and Features

Air Working Pressure 6 bar
Min - Max Air Pressure 5/7 bar
_ Air Consumption Per Cycle (6 Bar) 4351t
Stroke 20 mm /5
Max Power (6 Bar) 10900 N (E—)
Weight 1.546 kg =z
Vibrations <2,5 m/s? §
Noise Level 78 dB (A) 5
. . <
aunseuAuIAUIASOY :
] Description Pcs Code
Nosepiece @ 2.4 mm 1 4199000
Nosepiece @ 3.2 mm 1 4199100
~ Nosepiece @ 4.0 mm 1 4199200
8 Nosepiece @ 4.8 mm (On Head) 1 4169100
Nosepiece @ 6.0 mm For Aluminium 1 4041700
Nosepiece @ 4.8-3/16 mm For Monriv Rivet 1 2524800
Jaws (3 pcs) 2 1250100
Jaw Opener 1 4139200
Jaw Return Spring 1 4134000
Jaws Carrier Cone 1 4133800
Oil Syringe 1 4770100
Oil 1 -
Hexagonal Allen Wrench 3 mm 1 -
10-12 mm Wrench 1 -
16-17 mm Wrench 2 -
The Tool is Supplied with Kit & 4.8 Already Assembled

aunsuIaswY

Picture Description Code

Kit 503 - Extension 100 mm 4204300

Kit 503 - Extension 200 mm 4226800

E4



G

wy

HYDROPNEUMATIC TOOL FOR STANDARD
AND STRUCTURAL RIVET
IAS2VFV3I1DNS:uU HYDROPNEUMATIC

Blind Rivet yuna 4.0 - 6.4 UuU.

. IKUAKSULILELEQIWDUS:NDUTUVIU
« Us:uuqalfugngv WSDUNS:UDNIAU
. dwuo‘uwawaﬁnmsoqmawmssu cTomé'a\)wéomnagmﬁau

-
5

JvdurKUNIu 1a:vuns:3uido

Technical Data And Features

Air Working Pressure 6 bar
Min - Max Air Pressure 5/7 bar
_ Air Consumption Per Cycle (6 bar) 4.8t
Stroke 26 mm
Max Power (6 bar) 16000 N
Weight 1.866 kg
Vibrations <2,5m/s?
Noise Level 78.5dB (A)
M auNsauNUIAUINSDY
7 N —_|30 Description Pcs Code
é? . — Nosepiece @ 4.0 mm 1 4199200
- Nosepiece @ 4.8 mm 1 4169100
[] Nosepiece @ 4.8-3/16 mm for Monriv Rivet 1 2524800
© " 135."_ | Nosepiece @ 6.4-1/4 mm for Monriv Rivet 1 4041900
® Nosepiece @ 6.4 mm for Lockriv Rivet 1 4173500
=] Nosepiece & 6.4 mm for Standard (on head) 1 4041700
Nosepiece & 6.4 mm for Magnariv Rivet 1 4041800
f | ——— Jaws (3 pcs) 2 1249200
113 Jaw Opener 1 4133900
Jaw Return Spring 1 4134000
Jaws Carrier Cone 1 4133800
Oil Syringe 1 4770100
Oil 1 -
Hexagonal Allen Wrench 3 mm 1 -
10-12 mm Wrench 1 -
16-17 mm Wrench 2
The Tool is Supplied with Kit & 6.4 Already Assembled

S REST

Picture Description Code

Kit 504 - Extension 100 mm 4204300

Kit 504 - Extension 200 mm 4226800

ES



TOOLS FOR FASTENERS

HYDROPNEUMATIC TOOL FOR STRUCTURAL
BLIND RIVET AND BOLT BLIND RIVET
IAS2VFV3I1DNS:uU HYDROPNEUMATIC

 Structural Blind Rivet yuna 4.8-7.8 UuU.
* Lockbolts : 4.8 - 6.4 UU.

- IKudKSuvuBLPalAsvasL
- US:UUQQIAUENTL WSDUNS:UDNIAU
- WIUWANEANINSQAQAENKNSSI ADIAZDY

waaonagbideu Fo0ukUnIuT Ia=dUNS:BUTD
RIV 508 **gUNsniyaKIPY Frontal Head Kit S1kugiion
QS19aI3uQINUIAUDINANSIV

Spare Parts For Rivsert / Rivbolt

Technical Data and Features

SYINILSVH
d04 S71001L

BB fen uropen

Blind Rivets Air Working Pressure 6 bar
Extensions 100-150-200 mm. Min - Max Air Pressure 5/7 bar
Code 4348800-4348900-4349000
Air Consumption Per Cycle (6 bar) 491t
Blind Bolts Stroke 21 mm
Max Power (6 bar) 21000 N
Weight (without kit) 2.3 kg
Vibrations <2,5m/s?
Collar Cutter Heads for Standard Deflector Kit for Blind Bolts. Noise Level 78.5dB (A)
Collar (Not Flanged) & 4.8 and Code 3259500
@ 6.4 Code 4047100-4047200
Head kits
Picture Kit Description Kit code
508/50R48 Head for Standard and Structural Blind Rivets & 4.8 4303400
* 508/50R Head for Blind Rivets @ 60 6.4, 7._8 ar_1d for St_ructural _Bllnd Rivets @ 6.4 3123100
(Magnariv, Magnarivgrip, Monriv, Lockriv)
508/80R Head for Lockriv Structural Blind Rivets & 7.8 3123200
508/80RX Head for Lockriv Blind Rivets & 7.8 4729400
508/100R Head for Structural Aluminium Blind Rivets @9.8 (Lockriv and Magnariv) 4609600
508/50B Complete Head for Rivlock @4.8 - Property Class 5.8 3020900
508/64B Complete Head for Rivlock @6.4 - Property Class 5.8 3020700
. 3020700+
508/64B/1 Complete Head for Rivblock @6.4 2973000**
508/64B/2 Complete Head for Rivtainer @6.4 43;%23%70%‘11
508/50G Complete Head for Rivlockgrip @4.8 - Property Class 5.8 3118400
508/64G Complete Head for Rivlockgrip @6.4 - Property Class 5.8 3119700

E6



HYDROPNEUMATIC TOOL ANGULAR HEAD
IAS29VFV3I1DNS:uU HYDROPNEUMATIC

* Blind Rivet:2.4-4.8 Uu.
- IKWEKSULUBYEaUS:NaUBULILTUWURSIAQ
- Koaeanwisnusukiula 360 avA azlunuanekala 180 ovAm
- YUNQKIBORUIWSDUIAZDY
2.4 -3.0UU.
3.2-3.4UuU.
4.0-4.8 Uu.

Technical Data and Features

_ Air Working Pressure 6 bar
Min - Max Air Pressure 5/7 bar
Air Consumption Per Cycle (6 bar) 1.51t
Stroke 14 mm
Max Power (6 Bar) 8500 N
_ / Weight 1.803 kg
©
2/ Vibrations <2,5m/s?
Noise level 76 dB (A)
aunstunuInuIASOY
Picture Description Pcs Code
- — Nosepiece @ 2.4 mm 1 0189400
Vertical application
Nosepiece & 3.0/3.2 mm 1 0176500
Nosepiece @ 3.4/4.0 mm 1 0176600
Nosepiece @ 4.8 mm 1 0176900
Jaws (3 pcs) 2 4260500

360° head rotation (horizontal) and from 0° to 180° (vertical)

E7



TOOLS FOR FASTENERS

HYDROPNEUMATIC TOOL FOR BLIND RIVET
RIVET NUTS M3-M10

1ASoVIVEIDNS:UU HYDROPNEUMATIC

* Rivsert: M3 - M10 UU.
* Rivbolt : M4 - M10 UU.

. dksSuvuasvindsalu (Rivsert) Iaindaouan (Rivbolt)

- @510IN382028NSTIUANSIVN llanangoondalula

- noaIlasuyardv (Kit Assembling) TalagTuaavlsindavio

- 1A%0VUSUADS:H:aNBLAUAIIUKLNYDVBULIUSATUDE

- awnsnfsviulasgvaaitoviosfansiuidukie

**9UNSnyaKIPY Frontal Head Kit S1kungion

SYINILSVH
d04 S71001L

I] Ajey ur spey

RIV 938 Qs1wa:I3uQINLIAUDINANSIV Spare Parts for Rivsert / Rivbolt
Spare Parts for RIVSERT Technical Data and Features
@ Rivet Nut Kit Kit Code glch;:vz(igdge Air Working Pressure 6 bar
: Min - Max Air Pressure 5/7 bar
M3 938/03 3441100 3457600 Air Consumption Per Cycle (6 Bar) 51t
M4 938/04 3441200 3470500 Stroke 6.5 mm
M5 938/05 3441300 3471900 Max Power (6 bar) 20000 N
M6 938/06 3441400 3472300 Weight (Without Kit) 2.041 Kg
M8 938/08 3441500 3472800 Vibrations < 2,5 m/s?
M10 938/10 3441600 3473100 Noise Level 76 dB (A)
Spare Parts for RIVBOLT
Pressure Adjustment
. . . *Code
@ Rivet Nut Kit Kit Code (Female Tie Rod)
M4 938/04B 3442300 3441900 gunsauiasuy
M5 938/05B 3442400 3442000 Description Code
M6 938/06B 3442500 3442100 KIT938-Special Extended Head 3531800
M8 938/08B 3442600 3442200 Anti-Scratch Wing Protection 4217600
M10 938/10B 4601900 4601800

*The Female Tie Rod is Included in The “Kit code” and Can Be Ordered

Separately.

E8



TOOLS FOR
FASTENERS

>
]
=
£
[
o
©

M

TOOLS FOR FASTENERS

HYDROPNEUMATIC TOOL FOR BLIND RIVET

RIVETS NUT M3-M12

1ASoVIVEIONS:UU HYDROPNEUMATIC

RIV 939

Spare Parts for RIVSERT (metric)

* Rivsert: M3 - M12 UU.
* Rivbolt : M4 - M10 UW.

- dKsuvuasvINdsalu (Rivsert) lazindgouan (Rivbolt)

- @50IN3Y2029NSTUANSIVN lazAatgoandalula

- noaIasuyaradv (Kit Assembling) TalasTuaavlsinavio
- 1A%0VUSUADS:H:aNBLATUAIIUKUNYDVBUVIUSATUUE

- awnsalsoulasgnvaaitiovlasfansiuideriy

**gUnsniyaKPY Frontal Head Kit STkunglion

QS‘\&H:@UOIWUIGUO‘mmS‘]\) Spare Parts for Rivsert / Rivbolt

Technical Data and Features

@ Rivet nut Kit Kit Code (glc;:g:lz(i;dge) Air Working Pressure 6 bar
: Min - Max Air Pressure 5/7 bar

M3 939/03 3441100 3457600 ; -

Air Consumption Per Cycle (6 bar) 51t
M4 939/04 3441200 3470500

Stroke 6.5 mm
M5 939/05 3441300 3471900
M6 939/06 3441400 3472300 iz [Pare (9 U] 25500
M8 939/08 3441500 3472800 Weight (Without Kit) 2200Kg
M10 939/10 3441600 3473100 Vibrations <2,5m/s?
M12 939/12 3441700 3473300 Noise Level 76 dB (A)

*Screw is included in the “Kit code” and can be ordered separately.

Spare Parts for RIVSERT (UNC)

@ Rivet Nut Kit Kit Code Tie Rod Code
(Special)
1/2-13 UNC 939/1/2-13 4361600 4187000
Force adjustment
Spare parts for RIVBOLT aunsuiasuy
@ Rivet Nut Kit Kit Code (Fema:io;"iz . Description (EEE0
KIT939-Special Extended Head 3531800
M4 939/048 3442300 3441900 Anti-Scratch Wing Protection 4217600
M5 939/05B 3442400 3442000
M6 939/06B 3442500 3442100
M8 939/08B 3442600 3442200
M10 939/10B 4601900 4601800

*The Female Tie Rod is Included in The “Kit Code” and Can Be Ordered Separately.

E9



TOOLS FOR FASTENERS

HYDROPNEUMATIC TOOL FOR SPEED RIVET
IASVFV3IONS:UU HYDROPNEUMATIC

RIV 300

58MsIdonkogn INudv la:auso
1. Kogn — 1donauyunauavan Blind Rivet
2.1INUdY - IdoNaVYUNQUDLINUAY 11a:K0gN Blind Rivet
3. ausv - idanaivyunauavInudo

58msfagnsion

1. KyUKaENIAUdu

2. Tannudvinlulusavlagnsion

3. @owadsvinAuINUGLOINATUATY

4. 3nsoOVaNsIoN

5. Tainudoianouindu asensidaiiesvovdu
6. Sonidadu

ansnnfuvav awsnidontsiJu aalitiou KiolkanKoaoy

Kooula aunsalsiuuuna @3.2, 4.0 l1a: 4.8

- 1Jus:uUUSSRaNaLIUIAZDY FVIKUAAULIU

RADVNISADILADITDY 1A:52Q15D

« MIAZOVTUKUNIUY IKUNEIKSUDIURIAEIUDY

AUS:UUBIENNSDTNEOV

SY3INILSVH
d04 ST1001L

I] Ajey ur spey

Technical Data and Features
Air Working Pressure 6 bar
Air Supply Pressure (Min-Max) 5-7 bar
Free Air Volume Required ( 5.1 bar ) 261t
Stroke 30 mm
Tensile Strenght (5.1 bar) 3890 N
Cycle Time (Approx.) 1 sec.
Only Handle Weight 1.08 Kg
Total Weight (Handle + Compensator) 9.0 Kg
Overall Length (Without Head) 475 mm
Vibrations < 2.5 m/s?
aunswuiasy
Picture Description Code
Kit Handle in Vertical Position 4632300
£ . .
S0y A : Vertical Stand for Arm with
Q g Balancers and Triple Articulated 5924800
o B : Orbital Stainless Steel for
— - Triple Articulated Arm 5886400

/o
B

A

el

Triple Articulated Arm
Code 4811800

Balancers Arm
Code 5837400

E10



